New Case Study #1 2004

Q: When the second archer of a team crosses the 1-meter line too soon, what is the action of the assigned judge?

A: The judge shows a yellow card to the archer and if the archer does not see it, the judge makes sure the coach sees it. The archer is supposed to cross back over the line before shooting.

New Case Study #2 2004

A)   9     8    10,9    The 10 becomes a zero and the scoring is  0,8,9 for 17 points

B)  8   nill   7,6      The seven becomes a zero and the scoring is 0,6,8 for 14 points

C) 9   8   9            either nine becomes a zero and the scoring is 0,8,9 for 17 points

In case C, this is assumed that event was not a world-class event whereas no one was particularly concerned with which arrows were shot were. Had it been at a world event where judges were watching every shot and could easily determine which arrow was shot after the buzzer, then that arrow in question would be a zero so in that case, any one of the above arrows would be a zero.

